The members of rhodophyceae are
commonly called

(A) Brown algae (B) Green algae
(C) Red algae (D) Blue algae
(E) Not attempted

In python is used to
create a list containing a sequence
of integers from the given start value
upto stop value (excluding stop
value), with a difference of the given
step value.

(A) continue

(C) for

(E) Not attempted

(B) range()
(D) while

Withamountofcurrent(l), resistance(R)
and time of current flow(T), formula
for converting electrical energy to heat
energy(H) is

(A) H=V/R

(B) H = I°RT

(C) H = IRT

(D) H=1R

(E) Not attempted

A___ isusedto make or break an
electrical circuit.

(A) Wattmeter

(B) Fuse

(C) Switch

(D) Potentiometer

(E) Not attempted

An energymeter is
instrument.

(A) Indicating

(B) Recording

(C) Integrating
(D) None of these
(E) Not attempted
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1. USIHEH & He&d qHTa:
FEA & | FEE
W o dee (B g e SR

(C) @t Y@ (D) Hieft W e
(£) @i

29 4w F R % A 'l deq A Wi
I (9 ey, A DIgH) TF TR 5
IRA arell = A o foru o mar 2 |
(A) continue (B) range()

(C) for (D) while

(E)

TR awr B wEn (1), S (R) 31 faega
YT STEITE S T (T) < 2 ferega <ol ot et
Fall (H) o wRafda s6@ w92

(A) H=V/R

(B) H = I°RT

(C) H = IRT

(D) H=1IR

(E) 3TSRITRIA

Py R e A AgT Hfaw
&1 39 TR ST 2 |

(A) eI

(B) F

(o) fe=

(D) Tervemrdi

(E) JI5nida

ITHT R |
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6. UH. 3.UH.UH. IOH FE oAt TIH HI

6. Machine generating a.c. e.m.f. are
called as

(A) Transformers (B) Alternators

(@3] Modulatqrs (D) None of these
(E) Not attempted -

A type of protection which depends on

only the magnitude of current, without

taking any cognizance of its phase

angle, is known as

(A) Directional under current
protection

(B) Directional over current protection

(C) Over current protection

(D) Non-directional over current
protection

(E) Not attempted

The Champaran Satyagraha was

organised against the British

(A) To protest againstJallianwalabagh
Massacre

(B) Against the refusal of remission
of revenue

(C) For increasing the salary of the
Mill workers

(D) For forcing farmers to grow Indigo

(E) Not attempted

1 yard is equivalent of feet.
A) 4 (B) 2
€)1 (D) 3

(E) Not attempted

is an electrical breakdown
of a gas that produces a prolonged
electrical discharge.
(A) Electric arc
(B) Air blast
(C) Electric spark
(D) Air brake
(E) Not attempted

T HE AT 8 ?
(A) ZrEHEE (B) et
(C) Hrseied (D) 8 & g 7

(E) 75

T SR <hl YA Sil §8eh <01 HIvT Al

I T femT et 9T & i

et et 2, Feer @

(a) Texftar =7 e amr g

(B) fexftar areafirers g wmr dvamm

(C) Ircaferes forga amy wearor

(D) sfeafra srcafires ferega wmr wramor

(E) i |

3T % R Sarer gemg @1 s

ora fore foram mam a7

(A) SfeRTETETETT TEER % Raems fky
eI % ferg

(B) T & g & TR F freg

(C) Tt afirrt % o 1 9fg % fag

(D) ferami =t e 1 @ & for g
FH W

(E) STt
1T Hie & aueR R |

(A) 4 (B) 2

(€)1 D) 3

(E) 3trnfda

— wwfrpftemia e
7 e T e se= s R
(&) sifdee 3k

(B) Iy feremie

(C) forreht <Y Ry

(D) TR ik

(E) arrnfig




12,

13.

14.

15.

- [C) Volume

i[D} AM Df these

(D) James Hansen

Fuse is always connected in
to the circuit.

(A] No such specification
(B) Neutral

(C) Parallel

(D) Series

(£} Not attempted \

Amr.mg five characteristics ﬂf blg data,

which the data under consideration
are being gE:H.El’ELtEd and stored.
(A) Veracity (B) Velomty
(D} Variety s
(E) Not attempted ol ~EI

Distribution board is also known as a

{#) Panel board -

" (B) Breaker panel | ! ‘ta L

() Elecmn: panel

(E) Not attempted

For all practical purposes, pmtenha]
of earth is taken as ' 4

(A) Zero
(C) One:
(E) Not attempted

+(B) Infinity |

[}
‘\1

The term “Ecosystem” was first
coined by

(A) Rachel Carson

(B) Salim Ali o

(C) Sir Arthur G. Tansley

(E) Not attempted

represents the rate at |,

} ‘14, Wﬂmm%mmﬁ
JEme =i e = o fomn a2 7

O

(C) (D)} 8 & E T
(E) . Lo
gl T 7

‘ ]ﬂé?l_lﬁ_'f

fgjwaﬁ'ﬁ '

(D) 7 B

(Epﬂwﬁﬁﬂ
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16. The reciprocal of impedance of a

17,

18,

19,

20.

circuit is called
(A) Admittance
(B) Inductance
(C) Resistance
(D) Capacitance

(E) Not attempted

The device that converts optical
energy into electrical energy is

(A) PIN diode (B) Photo detector
(C) LED (D) Solar cell

(E) Not attempted

Data which have no well-defined
structure but maintains internal
tags or markings to separaie data
elements are called

(&) Organized data

(B) Unstructured data
(C) Structured data

(D) Semi-structured data
(E) Not attempted

Vel Ta]
[«

In a dynamometer wattmeter, the
fixed coil is

(A) Resistance coil

(B) Potential coil

(C) Current coil

(D) Voltage coil

(E} Not attempted

The resistance of a la%m_) is 10 phms
and current through it is 2A. Its

power is
(A) 40 W (B) 20 W
(C) 10W (D) 30 W

(E) Not attempted

5.

17.

I‘Bl

19,

20‘1‘
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| 16, ferell wftaer i aftarar @0 =penm

(A) TETT
(B) eI
(C) wfrie
(D) rfar
(E) Tuenfaa

a8 IUH 51 Fieeme] Feil i g He
7 wfafda = 2
(A) = 2z

(C) et

(E) STmfEe

9g 21 fomd 18 vt aw @ i
% fom sriafes o0 @1 fael &1 790 waar
(A) TTfEa e

(B) 3Tea B2
(C) Ttfaa 2
(D) ari-Tifm &
(E) 3Tt

AR FieHiet | o Hvesh 3 2
(A) Hﬁﬂ’ﬁ'{ EES|

(B) FUIRE Hsa

(C) Torga P

(D) diFeH FEw

(E) 3Trnifem

T 9 i ufly 10 o # ol 3w
TN ¥ 9RT 2A R | 3EeR WG &

(B) ®ier feeaex
(D) HN &

i

o

(4) 40w (B) 20 W

(€ 10w D) 30 W

(E) srfe
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22.

23.

24.

25.

Which alphabert will come

of queston mark ? i the place
D.K,S8,B, L, ?

(4) W B) Y

(C) X (D) Z

(E) Not attempted

According to law, the

electric filux passing Lhrouch any
closed surface is equal to the total
charge enclosed by the surface.

A) KirchoffTs
B)

(

(B) Gauss’

(C) Coulomb’s

(D) Fleming’s ;k@
SRR
E=E

(E) Not attempted

The value of resistance is measured by

(A) Currentmeter (B) Ohmmeter
(C) Wattmeter (D) Voltmeter

(E) Not attempted

Which of the following circuit
breakers doesn’t use air or gas as one
of their medium ?

(A) SF, circuit breaker

(B) Bulk oil circuit breaker
(C) Miniature circuit breaker
(D) Air blast circuit breaker
(E) Not attempted

The first battle of Tarain was fought in
(A) 1091

(B) 1191

(C) 1192

(D) 1121

(E) Not attempted

22.

23.

24.

25.

CG - AE23

Wi & & WM W SH-91 3187 3 7

D, K, S,B,L,?
A) W (B) Y
(€) X (D) Z
(E) 3TSfdg
fram & sramn e off 4e

HE § o aTen fed vaR, gag ¥ i
T AN H SR B @

(A) THETH

(B) TE I

(C) Fea =

(D) TAHT 1

(E) STETRya

Wiy &1 0 feds g/ o e 2 v
(A) e (B) i

(C) Fferfiex (D) STeeHIR

(B) rwantyd

T=fafaa @ & sH-°1 gfhe a5t 31T
HeEH % ®9 § &G A1 09 H I9G A5
HT B ?

(A) SF,Hfde s

(B) Foh TS Hihe et

(C) Tfeer afée a=

(D) TR =ARL fhe Haw

(E) TS

TS 1 WOH IZ HE ST T o7 ?
(A) 1091

(B) 1191

(C) 1192

(D) 1121

(E) 3Tamiad
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27.

28.

b;\
l‘ﬂr

30.

Which of the following type of
instruments are non-directional
and can be used for measuring both
AC and DC values of eurrent and
voltage ?

(A) Induction type

(B) Moving coil type
(C) Moving iron type
(D] Dynamometer type
(E) Not attempted

In python is raised when

an operator is supplied with a value of
incorrect data type.

(A) SyntaxError
(C) TypeError
(E) Not attempted

[B) NameError
(D) ValueError

The layout of this wiring is done under
the plaster of the wall of the building
(A] Concealed wiring l
B) Cleat wiring
(C) Conduit wiring
(D) Casing-capping
(E) Not attempted

The average value of sine wave is
times the peak value,

(A} 1.732 (B) 0.637

(C) 1.414 (D) 0.5

(E) Not attempted

Which city is known as Queen of the
Arabian Sea ?

(A) Kochi

(B) Diu

(C) Mumbai

(D) None of the above
(EY Mot atternnterd

26.

27.

28.

30.

CG - Al

frafafiga & @ sA-41 67 F 373
ﬁ'r fé’qu'iﬁﬁ 3 ZHRT 3TA1T i
Fiedst % AC 3R DC 21 T T T
zﬁ%rqi*wmﬂwo ,

(E) 3rEmia
e 1 I2FET F6T B

(A) HEfiee Fmafm

(B) #efte amgfin

(C) ege FrEfm

(D) -3t 2re

(E) o B
TAT R |

[ ) 1.732 (B) 0.637

(C) 1.414 (D) 0.5

(E) 3ToRTTE

TohE W T I W S T ey 6
ST ST R 7

(A) wifsg

(B) g

(C) Hwid

(D) 39 # Q FE 7

T = %



The type of earthing suitable for
sandy areas is

[A) Pipe earthing

(B) Rod earthing

(C) Horizontal strip earthing

(D) Plate earthing

(E) Not attempted

32. In measuring instruments, u;ifler
equilibrium condition, controlling .
torque (T.) and deflecting torque (T,)

dare
(C) T,<T, (D) None of these

(E) Not attempted

33. The seeds of the Internet were

planted in 7
(A) 1990 (B) 1991
(C) 1891 (D) 1969

(E] Not attempted

34. __  is switching device capable
of making, carrying and breaking
electric current under normal and
overload conditions.

{A) Contactor

(B) HRC fuse

(C) Fuse

ID} Lighting arrestor
(E) Not attempted

35. The Udanakootam is the
intimate grou of the King in #+
admjmgtrg;ﬁﬁg of Hing in .
[A) Vardhanas
(B) Cholas
(C) Pandyas
(D) Kadambas
(E}) Not a;'t‘tempted

31. @ ' g

32. mmﬁmﬁﬁﬂﬁﬁﬁqﬁﬁfﬂﬁi
T PRI S (1) o
ST (T,,) §iet §

WT>T,  mr-T,
Q) T, <17, D) 3 § % 7
(E) 319amiim

33. R F A 4 g g |
(A) 1990 (B) 1991
(C) 1891 (D) 1969
(E) v

34. - feafen feawy = :ﬂn
apferar feuftredi % wa fegd =
. & I SR g H 5am R |

{A] Tkl

(c) N
(D) maﬁd‘i

(E) STEEd

35.




41.

42.

43.

45.

Moradabad is famous for
(A) Penicillin factory

(B) Sandal oil

(C) Brass industry

(D) Newsprint factory E5
(E) Not attempted %ﬁj’gf

According to Ohm’s law, current

flowing in a circuit is inversely
proportional to

(A) Power (B) Voltage

(C) Resistance (D) All of the above
(E) Not attempted

A transmission line is said to bean
ideal line if

(A) RG=+C/L

(B) RG=L/C

(C) R=0,G=0

(D) With a large value of R and G
(E) Not attempted

Python allows us to join two strings
using concatenation operator plus
which is denoted by symbol

(A) % (B)
(C) + (D) $
(E) Not attempted

Which type of wire joint is found in
the junction box ?

(A) Plain tap joint
(B) Rattail joint
(C) Aerial tap joint
(D) None of these
(E) Not attempted
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(D) Wmmzﬁ]’(@m
(E) 3t
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(A) RG=4C/L

(B) RG = L/C

(C) R=0,G=0
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() st
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46.

A transformer operates at maximum ||

efficiency when
(A) Copper loss = Irgp ogg
) (B) Iron losses is minimum

(C]' Core losses ig minimum
(D) Copper losses is minimum

47.

48.

49,

50.

(E) Not attempted

This instrument of Haryana is in the
shape of cup containing 2 cymbals
and made up of br ass

(A) Sarangl (B) Taasha

(C) Manjira (D) Dholak

(E) Not attempted

In a factory, the following appliances
are in operation : 2 HP motor 3 hours
daily, 100 W lamp 12 hours daily and
1000 W heater 3 hours daily. Total
amount of energy consumed in a
month of 30 days is

(A) 260.28 kWh

(B) 36 kWh

(C) 134.28 kWh

(D) 90 kWh

(E) Not atternpted

What is the frequency of an ac
current i = 42.42 sin 628t ?

(A) 628 Hz (B) 100 Hz

(C) 50 Hz (D) 200 Hz

(E) Not attemnpted

The end {rom which elements are
added or deleted is called

of the stack.

(A) Rear

(C) Top

(E) Not attempted

(B) Bottom
(D) Front

47.

48.

49.

50,
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Ueh ZAGIR stfoeme gaan g 5
(A) a7 F%r?-:zﬁr;ﬁﬁ
(B) T8 %1 7 =L el &
(C) FR it gy =gam el 2
[D]Hﬁuﬁﬁlﬁwﬁg

|

(E)

& =1 g8 @7 fiaer @ =4 2 2T A
(A) =T (B) T

(C) T (D) e

(E) 3Tt

TF HREM H, FEfeiEn 39 =9

? : 2 HP i@ gfafeT 3 9¢, 100 w1

gfafeT 12 w¢ 3 1000 w et gfafes

392 | 30 & & v wER § myg & 03

Folt =Rt et T Rt 8 7

(A) 260.28 kKWh

(B) 36 kWh

[c:) 134.28 kWh
(D} 90 kWh
)

(E) 2A5fa

ac YR i = 42.42 sin 628t i i
E 7

(A). 628 Hz (B) 100 Hz

(C) 50 Hz (D) 200 Hz

(E) 3Tvnfea

@ BR ¥ Tl ) 91 Wz @ E,
WRFF__ wmwmd
(4) T (B) =ien

(C) T€™ (D) %<

(E) sryafi
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57.

58.

In 4 point starter, the No Vplt Release

(NVR) coil is connected in the

(A) Field circuit

(B) Armature circuit

(C) Across the supply line through a
protective resistance

(D) Both [A) and (B)

(E) Not attempted

o]
%

Diversity factor is the ratio of the sum

of individual maximum demands to the
on the power station,

(A) Individual demand

(B} Total demand

(C) Maximum demand

(D) Minimum demand

(E) Not attempted

Magnetization current in a
transformer produces in
transformer core,

(&) Flux

(B) Eddy current

(C) Power

(D) None of these

(E) Not attempted

Which number will come in the place
of quesmc-n mark ?

(E) Not attempted

CG -~ ARz

85. 4 TS VI H Al diee figiy (NVR|
Hige frad T2 2 2 7
(A) HiES ke
(B) =R "ide
') ek TUEITENR Wil % Hiem o
A s % I
(D) (A) 3fT (B) €M
(E) ITTRIE

56. Tafiue s T ®IE W SEam
S H F AT AT =
maﬁvrﬁnﬁ
{c; mﬁmu’qm
m:@mm
(E) H=HIEH

57. Tﬁmﬁmﬂmwww
4 Ieq| HE B |
(A) T
(B) W 2
(C) Wi
(D) ¥ & =g =&

4 : (E) TS

58. UH % % TH W SH-Hf I= s ¢

(A) 44
(B) 39
(C) 38
(D) 40
[E) arswnfag
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&0,

61.

B2,

B3,

Which safety device should be used
while driving a two-wheeler ?
[A) Seatbelt

(B) Helmet

(C) Airbag

(D) Mone of the ahove

(E} Not attempted

A 6 pole induction motor is supplied
by a 10 pole alternator which is
driven at 600 rpm. If the motor is
running at 970 rpm, determine the
percentage slip,
(A) 5% B) 2%
(C) 1% (D) 3%
(E) Not attempted

Is used to measure the
width of wires,
(&) Mallet
B Try square

ICy Wire gauge

D} Mone of these

E)

Mot attemptegd

In domes

Placeg mh;:mﬂgr a switch ig alviayg
[A) Neutral wige
[CW Live Wire

(E)

ey : = ETTors jp +
mﬁa;sm;:fmﬁnignf mﬂrs in Lm;m
are 294 and 3o

40h TEg EDE‘E
much will be th, ';mpﬁjg;glw Hou
obtainey 2UON of the Kiner: SMTar
vbtained by Measuripg .. - Slep ”
Speed ? E magy aﬂd@
&) 1% ] ‘
(C) 11% ;g} 8%
ﬂLj] Mat ﬂ“fampﬁ_d wea

CG - Ap
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60. TF 6 Ui SE95 At H A 10 o
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(E} AT g7
61 =7 ST31T 7 F1 S A+
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65.

The shunt resistance in gn ammeter
is usually

(&) of any valu_e_

(B) equal to meter resistance

(C) less than meter resistance

(D) more than meter resistance

(E] Not attempted ‘

The direction of force in a mmtc:rmg
action is determined by

(A) Right hand thumb ryle

(B} Fleming's left hand rule

(C) Fleming’s right hand rule

(D) End rule

(E} Not attempted

6 ochm and 4 ohm resistors are
connected in parallel through 240V
supply. Total r:l.n.rre:nt ﬂnw‘mg thru‘ugh
the circuit-is

(A) 100 A

(B) 10 A

(C) 24 A

(D) None of these
[E) Not attempted

is used to insert a new
Element to the queue at the rear end.
(A] ENQUEUE (B) Q-UEUE

(C} DEQUEUE (D) DELETE

(E) Not attempted -

N " i
Conduectance is measured in the unit

(&) Lux/m

(B) Joule

(C) Siemens

(D) Lux

(E] Not attempted

) ’5“4{"!

65.

CG -~ AE23

wrffet 4 vie gferie A W g 2
(a) el oft mer =

(B) et WioRiY & we

(C) iex wfwier & =g
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68,

| 6 3 R 4 3w W 240 v g
" T & i d 2 g0 § ) ufe %
| wam%ﬁ@ﬁaﬁﬁgﬁﬁgﬁma

(4) 1004
(B) 10 A

(C) 24 A

(D) ¥ & g T

(E) i
tﬂ%ﬁiﬁﬁ@ﬂﬁ% T e ST
T w1 s fe e 2
(A) ENQUEUE  (B) QUEUE
() DEQUE‘UE (D) DELETE

" (E) 3

TR -:Tﬁ _ THFEHAM O A |
[A) <1 /o,
(B) Sitw

(C) Huw
(D) &g
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69. Tree system of wiring is most suitable | g9, WG fr TUiTet fereren

for ' ' ng
[#4) Multi-storied building (A) g _ET:ET T
(B} Industrial wiring o (B) Wﬁﬁ‘? T
(C) Godown wiring (C) 2 , ﬁ_w
(D] Domestic wiring (D) gﬁiﬁm
[E] Not at temnpted : _ (E) sTaifia
70. The probability of happening of an 70. UH HET A F B I R 0.5 2
event A is 0.5 and that of B is 0.3, S BE 0.3 | 7R A 37T B TR

If A and B are mutually exclusive

M geid &, ai A dl A9 Fl BEN 5
events, then the probability of 33:?:2’ EET ST T AT BEH
happening neither A nor B is A N B
(A) 0.9 B) 0.5 IIM 0.9 (B) 0.5
(C) 0.4 D) 0.2 (C) 0.4 (D) 0.2
(E} Not attempted (E) 3TSEiaa

71. Theequipment connected between the | 71. Icaias Hiees @i J=i T foam w6
conductor and ground, to discharge % o Sewe o wdm % Jie a=
the excessive voliages to earth is IYHT B
{A) Lighting arrester . (A) st T
(B} Voltage ransiormer B (B) aleesd gmmﬂ?
IC) Current transformer (C) Crra gr%‘iw
(DY Relay | 1- D) T
(£} Not attempted fb (E) sETE

T2. i;gsr; iﬁl §ﬁﬂf§ren near road showg 72, TEF & U tt'm:ii < g ste-um

) Hdsirtal — Ty S L RS
. %) Park (A) eI (B) %

%) ‘Schoa (D) Home (©) w5 (D) =T

IE} Mot attempted fE]n i ]

T3. InDCg o i
mameiinggﬁaf; E;Eéﬁ:}i ofthe | g3, R SHEH, T &5 F IS wmg &
Eun*em on the distribution of the A, fﬂﬁ'{ﬂT e E{TEEI S T =i Ee

nder main poleg is kmown ag s &7 & TAE S =91 Tl AT E 7
E;’ mfﬁi ii:_lm (A) FTHE AT
{C) Armature rméﬁiﬁce (B) m‘ij?ﬁ Hﬁ?ﬂ
(D) None of these (C) M Nfeifsean
(E) Net atlempied (D) &5 4 m TH
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75.

76.

77.

In the following question two
statements and two conclusions
given. Read the conclusions and
decide which of the given conclusions
logically follows.

Statement: B< Q=R <N,
R>A>T=E
Conclusion: . E>N

II. B>T
(A) Both I and II follow
(B) Only II follows

(C) Only I follows |
(D) Neither I nor II follows 5

(E) Not attempted 33

% E,]

For a P’ pole lap wound armature of

DC- machine, the number of parallel
paths are equal to

(A) P/2
(B) 2P
(C) 2
(ID) 15 < o
- (E) Not attempted

4

In delta connected systém, the Irelation
between the line current I, and phase
current Iph is .. -

()1, =3, (B L =L./\3
© 1, =1, (D)1, = V3L,

(E) Not attempted

The shape of warning traffic sign is
(A) Triangular R

(B) Square

(C) Circular
(D) Rectangular

I

74.

75.

CG - AE2:

fRrefoRad wo7 7 <1 e 39 o) fopd
e g | g1 ekt @1 92 3in oty
IR o5 -2 e a2
ITTET L 2 |
HAT:B<0=R<N,

R>A2T=E

fed: L E>nN §°

II. B>Taq
(A) 13 I1 T TR0 e &
(B) eIt II STTET0T LT &
(C) et I 3TFEROT e 2
(D) T4 1T & II SR Fear 2
(E) 5=

(A) P/2
(B) 2P
C) 2
(D) P

‘_(E)STSR]T%H

76.

77

é@aﬁaﬁgﬁwﬁmﬁzhaﬁﬁ

%S e 1, F e qaw g @
(B) IL = Iph/\/g
(D) I = Va1,

(&) I, =31,

€)1 =1,
(E) 3Tsamtéa

(A) Creprofta
(B) TMHR
(C) TR
(D) e
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78.

79.

B0,

21.

22,

Gurugram-Manesar-Bawal region of
Haryana is famous for the production of
(A) Automobiles

(B) Sugar

(C) Pharmaceuticals

(D) Cotton

(E) Not attempted

The simplified form of

-1/l x =1 -
tan [5] —tan ( F] is equ:al to
¥ X+ ¥

(A = (B

=NEENE]

(C) O (D}
(E) Not attempted

Radiation is a ____hazard.
(A) Mechanical (B) Chemical |

(C] Physical (D) Biological
(B} Mot attemnpted P '_"
2

The sides of an equilateral tﬁﬂﬂgi%]:‘:éjé
increasing at the rate of 4 cm/sec. The
rate at which its area is lﬂErEagmg
when the side is 14 zm

(A) 14 em?/sec

(B) 1443 cm? /sec |

) 1043 cm?/sec
(D) 2843 cm?/sec
(E}] Mot attempited

Unknown frequency can be meaau]. ed
using

(A} Wien’s bridge

[B) Maxwell's bridge

(C) Anderson’s bridge

(D) De Sauty’s bridge

(E) Mot attempted

-18=

78.

79,

B8O,

81.

%mﬁ:{%ﬂnﬁa‘% I
(A) (A) ST
(B) =i
(C) ST
(D) ¥
(E) 35T
(x) o ifx=y).
t [;] t ‘[HFJm’mﬁ-ﬁﬁ
[C LDy g_ “
(B) ST
iR es . wau g
(A) =B (B) TEMERE
() i (D) SR
(E) 3Toamiya
T Ho=g e = gend 4 /. B @
o7 W € | AR 3 g 14 R,
graher % g B W
(A) 14 FH2/E,

B) 143 w28,
(C) 1043 T2/,
(D) 2843 ¥Hi2/4.
(E) FEia

(ija-ﬂ"ga
(D) ﬁlﬁn‘ﬁa?rga
(E) T



83. The polarity of voltage drop across a

84.

85.

B6.

resistor is determined by

(A) The polarity of source

(B) The value of current

(C) The value of resistor

(D) Direction of current in resistor

(E) Not attempted
“55” is a system used in

(&) Electrical manufacturing
(B) Safety practices

{C) Production practices

(I, House-keeping praeﬁces : |

(E) Not attempted =

In Haryana, Surajlkund crafts fair is
held every year in the month of

(A) April

(B} February

(C) January

(D} March

(E) Not attempted

Capacitance is a ratio of
(A} Charge to charge

(B} Voltage to charge
(C) Voltage to voltage
(D) Charge to voltage

Il Wat attermmied

83.

86,

CG - AE23

et wfetiass # Fiees g9 A1 yeier
(&) F T gelreraT
(B) T &R T A
(C) wieress <1 4

AEE
(a) Tagm Frmt 3

(B) Hx&m wematl |

(C) Semes wenadi o
(D) Te-=g=reen i wara §
(E) 2T9amida

HTIET <l ST &

(&) =TSl T = W

(B) dieest =1 = o
(C) dlees i dleest |
(D) =l 1 et 4

I =T
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88.

20,

o1.

@l

The practical voltage source has emf
of E wolts and internal resistance ig

r ohms. If it supplies a load current of |

I amperes, the terminal voltage is
(A) E-Ir (B) E/r’

€ E D) I -

(E) Not attempted

In 3 phase systems, 3 voltages have
same magnitude and frequency but
with a phase difference of

degrees.
(A) 120 B) 60
(C) 30 ) 90

(E) Not attempted

Which of the following is not a trafﬁc
sign ?

[A) quannaﬁan signs

(B) Cautionary signs 3
C) Mandatory/ regulatory signs o
(D) Movement signs

(E} Not attempted

Which of the following is the ideal
value of earthing resistance used for
large power stations ?

(A) 10 ochm (B} 0.5 ohm

(C) 1 ohm (D) 5 ohm

(E) Mot attempted

Which of the following is not a class
of permanent magnet material used
for electric machines ?
(A) Samarium cobalt
(B) Ceramics

(C) Alnicos

(D) Silicon

(E) Mot attempted

CG - AE2;

87. SAEEINGH diees Hid § E I T en

88.

& 31 iafes ufedy r AW 2 ) 3fe 3
E‘qnﬁﬁaﬁﬁi‘igﬁm@raﬂqﬁwﬁ 7

et oS @ 2 7

(A) E-TIr (B) E/r

C) E (D) Ir
 (B) i@

3 =9 Wil H, 3 SHieed B GHH 9fmm
(A) 120 (B) 60

(C) 30 (D) 90

(E) e
fr=ifefen 5 & S—ur agmm s
e 7

(&) g1 Tomg

M g (B) 9EUH & T1e famg
% (C) AR/ s s
u:'r] -ty & s
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93.

24,

95.

96.

pleces Df metal edge to edge.
(A) Corner joint

(B) Butt joint

(C) Lap joint

(D) Tee joint

(E] Not attemipted

Which of the following materials is a
good semiconductor ?

(B} Mica

(D) :Porcelain

(&) Germanium
[C}) Copper
(E) Not attempted

Under this Mughal ruler, Haryana
came under the control of Britishers
(A) Bahadur Shah Jaffer
(B) Shah Alam

(CY Mohammad Shah
(D) Ahmed Shah ¢,

[E) Not attempited

:

When two similarly cha)rgéd. particles
are brought near, they try to repel each

‘other while dissimilar charges attract

each other, This abﬂity of a charged
particle to do the work is called

{A) Electrical resistance

(B) Electrical power

(C) Coulomb

(D) Electric potential

(E) Not attempted

The EMF induced in a conductor is
measured by
(A) Ampere
(C) Chm

(B) Watt
(D) Volt

Is a joint formed by j Jeining two |

(E} Not attempted

e

CG - AE23
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93.

94.

95.

96,
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